
Dear customer,

Thank you for choosing our product.please read this manual carefully before
assembling or using the product,to avoid damage caused by improper use.
If the product is passed on to third parties,this manual has to be passed on
along with the product.For any question don't hesitate to contact us.

1

3 Pieces Patio Sofa Set Instruction

G

G

G

G

I

H

H

H

I

Contact Weave Support
Need service or support?
Start your request by Emailing Us.
AND we will find you a Solution.

We will get back to you within 24hrs.
HelloWeaveGaming@Gmail.com@



A1 2x A2 1x A3 1x A4 1x

B1

C1

B2 B31x 1x 1x 1x

1x 1x 1x

2x

A5 1x

B4 B5 B6

C2 2x C3 1x D

E F

4x

3x 4x H 3x

J 2x L1

M6x20

4xK 13x

2

I 2x

G2x

1xB7



L2

M6x35

L3

M6x45

L4

M6x55

L5

M6x90

L6 L7 L8

SPANNER

1xL9

SPANNER

1x

23x 7x 2x

13x 49x

3

6x



A1A2

A2
A1

1

2

L8 L3

L7

L6

L9

L5L7

4

Middle sofa assembly
Do not tighten when assembling, tighten all parts after assembly.

Warning
Please wear gloves before assembly.

L3 L7 L6



3

4

L8L4

L7

L6

L9
A1

A2

A3

A4

A1
A2

A3

L2L7

L3 L7 L7 L6

5



5

6

K

K

K

K

A4
A5

A3

A2

A1

L2

L7

6



1

2

A1
B1

L8L3

L7

L6

L9

L5 L7

B1

A1

B2

L8L4

L7

L6

L9

7



3

4

8

B1

A1

B2

B4

L7

L2

L7

L2

L8L3

L7

L6

L9

B4

B5

B1

A1

B2

L7

L2

L7

L2



5

6

9

B1

A1

B3

B5

B4

L7
L2

L2L7

L1

L1

B6B5

B4

B3

B1A1

B2

B2

B6



7

8

10

B1

A1

B4 B3

B7

B2

L1

L1

K

K

K

K

K



1

2

11

C1
C2

C1

C2

L2 L7

L2 L7

L2
L7

L2
L7

C1

K

K

K

K

C1

C2

C1



3

4

12

C3

C1

C1

C2

C2

C1

C2

C1
C2

C3



J


